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B.Com (Part-I)
Examination, Mar.-April, 2023
Paper - 1 |
Business Mathematics
3
j
Time : Three Hours] [Maximum Marks : 75 |
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Note : Answer all questions. The figures in the right-
hand margin indicate marks.

ThTS / Unit-1

1. 10 99 Yo T AfR o1 G M TH &1
I & fAE o, 10 96 9 fra # ey |
TF HI HY B AT B SR GAAHH |
Y I hIfC | 15
The age of father 10 years ago was thrice the
age of his son. Ten years hence father’s age

will be twice that of his son. Find their
present ages.
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(2)
Afyshan Hifsrg

z=80x + 120y
x+y<9
20x + 50y < 360
x22
y=3
x, y20
Maximize
z=80x + 120y
x+y<9
20x + 50y <360
x22
y=23
x, y20

TS / Unit-II
2. (a) & w9 10

1
L1 -2]
2

2 3 -1
30 2
Simplify :

2 3 -1

30 ot 2
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(3)
(b) WO R FE F faewand fafaw

Write any two properties of determinants.

HYdT / OR

(a) TR HROT 1 FEE ¥ WA Fiww 73

(0.7634)°
V272.3x152

Simplify using log tables

(0.7634)"°

V272.3x15.2

(b) fag =ifST: 7
2log (1+2+4+7+14)=1log 1 +log2

=

+log 4 +log 7 +log 14

Prove that:

2log (1 +2+4 +7 +14) =log | +log 2
+log4 +log7+logl4

geRTS / Unit-I1I

3. Emﬂﬂwﬂooiﬁﬁsﬂa%ﬁ
¥ 2 a9l ¥ fau g@ w1 IR Y W
$100 3@ W R ¥ 3 a9 & U
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(%)

Afea = gy afk 39 A =19 & w9
4 S8 T 55 WK ®, d@ 9 & QW AW\
HifTT |

Suhani lent out ¥ 400 to Suraj for two
years at a certain rate of simple interest
and lent out ¥ 100 to Rohit for 3 years at

the same rate. If she gets ¥ 55 in all as

interest from both of them, find the rate
of interest.

(b) ¥3254 F1 494 298 & fou 5% arfds
W ¥ THgls =N SR

Find the compound interest on ¥ 325.4
for 4 years 2 months @ 5% p.a.

3He4qr / OR

TF THMGR & faqmm Sar & fgs sgan
foo® ov" T A w3 W 850 |
T S GHA T T WY T 160 T
Sl L qA1 8 HIE d% T 90 WA HE =
fFva S ot ya fear o1 @ ¥ =S
® W G HIfAC |

A shopkeeper advertise the cash price of a
sewing machine as ¥ 850. The same machine

can also be purchased by depositing ¥ 160 at
once and the balance in 8 months equal
instalment of ¥ 90. Find the rate of interest.
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4.

(5)
IHTE / Unit-Iv

(a) 405 fgafedai ¥ u% wierw § @) g
astal 1 den § 7:2 %1 aum ¥
afz wsfEa # dEn so 77 W sk
TeH qMm TfEa W AIE 3:1 A
S, 9 "R w gewm § 3fy Fann
In a college of 405 students the ratio
between the number of boys and girls is
7:2. If the number of girls is raised by
50 and the ratio of boys and girls comes

to be 3: 1, then find the increase in the
number of boys.

(b) 16 HARH AT 28 A fHE FW FT 40
f o @ w@ §, 9 24 sen @k 14
IS I Fm F A A F @ wE
16 men or 28 women can do a work in

40 days. In how many days will 24 men
and 14 women complete the same work ?

HYar / OR

(@) TF TO&T § 50 BE WiAfGE g IR
3f|aT 37 3w foot & B I TU
3% I 39 ofF fadt iR St smE
T 5% A 34 I fAi =Ry
fed B 399 gW?
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(6)

(7)
50  candidates appeared in  an _ T R €50 s e ¥ 54 u
examination. The average of the marks : o T T A 3
obtained by them is 37. The average ! 3% B H T 12% 3 77,00 8 i
marks of passed candidates is 39 and the -1t wfaera @ &m 7fg 3% ' y &
average of those who failed is 34. Find o9 W ? 4

the number of candidates who passed ? A scooter fetches 900 extra when sold at a

%. What _

(b) TH SHIIR & 65% T2 fiye a4 98 profit of 12% instead of loss Mﬂ 3 q\o._o& s “
2745 9 ¥ fawdt @l wERw T would be the percentage of profit or l0sS, :
fem are w22 71 it is sold for 77,0207 __

i 2 .,,,

A candidate wins the election by 2745 m

votes getting 65% xotes. Find the tota] |
number of votes.

$HTS / Unit-V .

5. UF Wi 100 mifs 99 qor % 20,000
| afew # ot W 4% v Tow wwa ;
¥ 3Rk o feedt o A 7500 sy s
A IR N I A T I9F fawg iy a4
BT =ifgw? 15

A salesman gets a salary of ¥ 100 per month
and a commission at a rate of 4% on sales in
excess of ¥ 20,000. If he wants to earn ¥ 500

in a month, how much should be his sales
for that month ?
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